- 12000pF1160\D. RWBC Drawings\TX-723\TX-723,dwg, TX-723

R:\A - Projects\Project Folders\Proj 1101

Trinity Glass

I NTERNATIONAL
4621 192nd STREET TACDMA. WA 98444

60X380
GLAZED PREMIUM FIBERGLASS

DOUBLE DOOR INSWING / OUTSWING

"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Trinity Glazed Premium Fiberglass Double Door described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006 Interational Building Code
(IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the following
condifions:

I

2.

3.

4+

Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base
material shall be beyond wall dressing or sfucco.

When used in areas requiring wind-borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the IRC
and Section 14609.1.2 of the IBC.

Allowable design pressure requirements must be equal fo or less than the design pressure rating
shown in the design pressure chart, sheet | of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

SUPPORTING DOCUMENTS & EVIDENCE

l.

6 3

3.

Testing per ASTM E330-02 as performed by Testing Evaluation Laboratories Inc. and reported in
test report numbers TEL 08-01370046 and TEL 05-1026-2, signed by Wendell W, Haney, P.E.
Calculations (Anchoring and Glass load resistance report ASTM E1300-04) prepared by Lyndon
F. Schmidt, P.E.

Certificate of Parficipation issued by the National Accreditation and Management Institute,
Inc., cerifying that Trinity Glass Int'l is manufacturing products within a Quality Assurance
program.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

=

Typicaol elevations, design pressures & general notes

Door panel construction details & glozing details

Hodizontal cross sections

Vertical cross sections

Frame anchoring

Components

Endura osiragal details

TRC astragal details

O 00| ~d]| o~ | Ln | b L2

Bill of moterials

an
ey +
ST £2 ¢ By
e ¥ a0 £™= B -
Zo12 1 3a g¢B §F
Sxs ix n BT Rl
2 ‘f:r:n' 20 w . o o
e i = a 3
B’u& fu i §§ E $ 2 3,
20 to s e § op
04 = & =
A o = ﬁ
G, 181 Z2oa
- 74.00" MAX. O.A. FRAME WIDTH g xin {2 & 8% ¢
xu.l..\..\.h.':ﬁ' E % Ef %u.
] Podsly
: S
i P S 38
a = E
< S
| ~5 ] 2
! | OF
ﬁ d l e =i
(T} 2 ﬁ
& =l FA R
= “E Bl Ly
2 el |
: == |§ Q
. oy ES S::-
2 A
B 2 &
~ JI il & E -
2E[6%
g
S5
o | o
z[2/S
g 38| ln
Z|S 1=
Szl (3
22
S| [
— EE8
A GAL FRAM}:' GLASS DESIGN PRESSURE PSF) 5 é é
1YPE SWING DIMENSION WPE | posmVE | NEGATIVE =
NONE
INSWING ?4.mn ¥ ??JBB- +dn-n '40-0 Qqh gl
ENDURA G1 al i
OUTSWING | 74.00" x 94.75" +40.0 | -40.0 -2
|oare: 11 ,/22/05
INSWING | 5, 0o+ 97 88" +50.0 [ -55.0 scue: N.T.S.
e Gl ows. B:  AEM
OUTSWING 74.00" x 94.75" +50.0 -50.0 cHK. BY:  LFS
DRAWING MO.:
Refer fo Table (sheet 3) for Passage Lock Rating Limitations TX-723
SHEET _1_oF 9

02000 AW, BULDING COMBULTANTS MG,



"ON| SLNVLINENDD DMIOTINE "M H B00E O

ZTEELL—3 F MOUVHLSIOIN J0 AUVIILUHID
SHIINIONT TWNOISSIJ0ud 40 Ouv08 SviaEl

LBLE'AEO'LLE FON euoyd

STVII0 ONIZVID_aNY STvV.IIa

NOLLONYLSNOD TiNVd ¥004

*ATENISSY HO 1Hvd

SBSEE “I4 OoMHIDA OCZ xog .g.mm.
oMl SINYLINSHOD SHIaT

£ZLFOLF '3d SWEL
Td WPIUYos 4 wvopud] g paundeug EyusWwINDog

SSVIDM3EH N4 WIW3dd
TANI SSVI9 ALINISL

= SNOGIAIY -
AB 3va JoN|a| [« of
HIY SNOLVOO1 YOHONY G3sA3a| 60/2/21 | | |2 g € =
M3 | 3UNIVIONINON_135)9071_03s1A38| 90/82/9 | Z || L8
T |31v0dn NOLVNIVAI 1ondodd 10L| 60/22/2 ] € |~ = g _..w o
- |E|&
‘Ionaoud 5 m g mm m

gZLYOL | 5,
LQINHOS, 3 NOANA

samans

..........

EEE ARRRRY

AN g

Qf A

COMPOSITE CAP

— 1" QLA THE GLASS

- =—— 50 "
. ﬁ =
ff = El
uy = =
i ﬁ/ _ WNR
: ®) e L3
—= 80 |=—
k&0
2 23 3 m
.f.f.mw_-.\\
\[7 —mi Ama i “
il S . Q
N\ B el =
m_ & gz %
<
O
o
—— GG ——
Ny
* —
[ I
5 538

1/8" TEMPERED
GLASS

AR SPACE

ral

o | SR i V
/..a.zﬂ///#.r/u?ﬁ. EEEEEEEE \\._.N

| A
AR __.l_.‘..l."_l.-_.lf

5" GLASS BYTE

EXTERIOR
INTERIOR

IZONTAL CROSS SECTION

HOR

(N

! S

%\.‘\\\.ﬂ\hﬂ.\hﬂwmrf ..-.JJ.“_ -

BN\

=

;

—— 9910

S8 7‘

i

——

= — L2100
¢ .ﬁﬁ,_#
ST |
_
P
85 u
S o m.,
& <
| ®
—— 95| —=]
- i— ST

35.81" MAX,

PANEL WIDTH

-

l—

FIBERGLASS DOOR

P

PREMI

COMPOSITE CAP

IHIIFH 13NYd YW 5856

IHDIEH 'O'Ta XYW .L8'8L

L

7 ‘BprEz-XANET - L \sBumeIgE DaMY "a\0aTTiho0zT

= 10171 foud\ssapiod paloud\sioaiond - vy



R:\A - Projects\Project Folders\Proj 1101 - 1200\pf1160\D. RWBC Drawings\TX-723\TX-723.dwg, 3

i
g b
uj ) T
kS i-e;'-: g:".
LRTHES
331
s B8B83 E
® zi% by
i = G 6
$ 3% gg
e ineey DEA[}EGIT‘HA“HGSCHAE]’ £ S EE
- T mowrer| ] S B
ey e e POSTIVE - --HE{;QM;: i o~
LOCK: 740 21 2| 8
FRwaE DEADBOLT: 780 22 +50.0 | -55.0 = E
LoCK: COMBO 660 | 21 P
WISET | peapsoLr:  comsosso | 22 | 900 [ -55.0 e s %
LOCK:  MAX.SECURITY | 21 g (3
SCHIAGE | heapBoLr: max. secury | 22 | 900 | -55.0 %E 4 %
32 (58
el "~ I8~
[+ o
S
DRYWALL Q E %"
.\\ \ 5l tén
/ / 'Egg m
/ INTERIOR INTERIOR 2l B
r =l
— Yl 288
= I =1 E:'Ij! 7 T
fre— : o [=]l=3 =]
....... I NN
/ r |ey|-[2
EXT. SHEATHING ® @ 2s) EXTERIOR DATE: 11/22 /05
18 suE: N.T.S.
oWe. BY:  AEM
; o Br:  LFS
@MIDNTAL CROSS SECTION E E 9 HORIZONTAL CROSS SECTION 3"\ HORIZONTAL CROSS SECTION ORANMG WO
Outswing shown TRC astragal \_3/ Endura astragal T™X=723
Inswing also approved ST 3 of 8

) 2009 R.W, BUILDING CONEULTAMTS INC.



R:\A - Projects\Project Folders\Proj 1101 - 1200\pf1160\D. RWBC Drawings\TX-723\TX-723.dwg, 4

EXT. SHEATHING ; / DRYWALL

B

EXTERIOR

INTERIOR

o

7“1\ VERTICAL CROSS SECTION
4 J Outswing shown
Inswing also approved

EXTERIOR INTERIOR

A / "]:_. : :-"F";; : S

N I X g :E:CE:EEIE

3"\ VERTICAL CROSS SECTION
w Qutswing configuration

EXTERIOR INTERIOR

2"\ VERTICAL CROSS SECTION
\\i/‘ Outswing configuration

\\

mw

O
()

(4 \ VERTICAL CROSS SECTION
‘\y Inswing configuration

Documnents Prepaored By: Lyndon F. Schmildt, P.E.

#1o4123

TEXAS P.E.
ILDING COMSULTANTS, INC.
Box 230 Valrico FL. 33585

Ry

one Mo.: B13.650.8187

TEXAS BOARD OF PROFESSIOMAL EMNGINEERS
CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS

VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

AEM
BY

REVISIONS

EVISED LOCKSET NOMENCLATURE | EW

REVISED ANCHOR LOCATIONS

6/26/06 |R

3 | 7/27/09 |TDI PRODUCT EVALUATION LFDATE | AL

111

2

5?2;05
NOJ] DATE

2

DATE: 11

N

=

= | b3

nfS
n

2
2
B

I:
:
3

T™X-723

g
N
e

D 2009 R.W. BUILDING CONSULTANTE ING.



R:\A - Projects\Project Folders\Proj 1101 - 12004pF1160Y0, RWBC Drawings\TX-723\TX-723.dwg, 5

2X FRAMING TO BE DESIGNED

BY THE ENGINEER OR ARCHITECT
OF RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

SEE HINGE
DETAIL l} \

SEE
HINGE
DETAIL 2

HINGE JAMB

M\

FRAME

FLOOR
SUBSTRATE
MATERIAL w—

TYP.
HEAD

& JAMBS
2% FRAMING / =

ASTRAGAL SHOWN
FOR REF. ONLY

N B

e |

.

TYP. SILL

l B% |

14.31" MAX ‘
ON CENTER

JAMB

2

%//////IW]%II

\1

s =/
=

@/ VIEW A-A

Astragal strike @ head

FRAME ANCHORING
Stud construction

3) I
i

&

=

AL STRIKE

..,xﬂ‘::\..‘_\.'\::_‘s.‘!.‘l.htr E»}
ol
B Y

\‘I?
o
S CHMIDT
1123

R
A
r

#104123

TEXAS P.E.

STRIKE PLATE DETAIL

1
O -
INSWING
|

-
-

—

L L ]
F

703 ‘L
=

VIEW E-B

Astragal strike @ sill

\
\}

@<k

;4

L_If T

A9

N

HINGE DETAIL 1

=

@<

71
==

| I -

_®
i@

HINGE DETAIL 2

UILDING COMNSULTANTS, INC.
.0. Box 230 Vairico FL. 33595

Phone HNo.: B13.658.8187

TEXAS BOARD OF PROFESSIOMAL EMGINEERS
CERTIFICATE OF REGISTRATIOM # F-11852

Docurnents Prepared By: Lyndon F, Schmidt, P.E.
Ry

FREJJI-W @P&ﬁ% LASS
FRAME ANCHORING

PRODUCT:
PART OR ASSEMELY:

s

AEM |

AL

EVALUATION UPDATE

REVISIONS

05 |REVISED ANCHOR LOCATIONS

12/2/

6/28,/06 |REVSED LOCKSET NOMENCLATURE | EW

7/27/09 |TDI PRODUCT

—

NOJ DATE

ER
2

otE: 11,/22,/05

SCALEE  N.T.S.

owo. BY:  AEM

CHK. BY: LFS

DRAWING MO
TX-723

sieET 5 oF G

D 2009 R.W. BuiLoiNg COMSULTANTSE NG,



"AN| BLNYLINEMOD 8sMioinNg "m°sd s00Z nw

(Z5941-d § NOUVISIOR 40 AUNDLLNED = SNOISIAZY -

TYNOISSAJ0ud Quvos Swal ON | w3
LOLEDRURIE = oH. Motk mE“.__..ﬁl||E:E v SNOLLYOO1 HOHONY 03SIA3d| 50/2/21 | | || ui m m_ e of
S6SEE 14 SOMIOA OFZ Xog .ﬂm&@. RIBAGSSY H0 T8Vd | M3 [ SHNIVIONINON 135%007 G3siA34| 90/82/9 | 2 | | 5 N
“ONI 'SINVLINSNOD OMICTI v | 31vadn NOUVNIvAS 1ondodd Ial] 60/22/¢ | € |~ = g | E_
SSYI194381S 4N KNIW3add - Ele wm |

: &

CZIFOLE '3'd SWAL TNl SSYT19 ALINIML "

F'd WPWYss 4 ucpul] g pespdeld muswinoog 1LONa0ud & m M m

bﬂ_j

-1 , n_
[ARp . m
2 1QINHOS 3 NOGNAT 3

.
[

456"
— 244" —|

J
M

*

Optional

@ SILLKEY DETAILS

4.56"

: ., :
m w
! g 2 o
o =
) S
LV O
—a| ET| |
|
L0 m m
ﬁ O (@] < =2
L% O G |
2 o3 T = el
oL 1 1®
O O
\__© o/ 1

g 'BmpEzs-XUNEZL-X LU \sBumesg SEMY “a\0oTTIANO0ZT - TOLT loud\ssapiod 1afoud)\s19e(oud - Wiy



O BAMNYLINENOD SRIOTNE "M'E BDH-NLHM

SNOISIAZY
EGELL—d § NOUVHLISIORY 40 3LvDldUu3D - [l .
SHIINIONI TYNOISS2I0Hd 40 QHVOE SwXEL A8 31vd _[ONJjw|
R — S0 WOVLSY VINON3 oy T cwiivanT somony aasiaa] so/z/zi] 1 |9 vl S 2 = °)
GBSES 14 COMEA O %08 O'd \S‘ ATBRISSV 8O Iivd | M3 | SHAIVIONINON 135x007 a3sindu| 90/82/9 ] 2 ||| ||, N | 8
ol RPN Bl mm.. " — v |3IvadN NOUVNTVAI 1onaodd 1ailso/¢z/¢ | € | £l 2 w_m L
SZLvOLF “I'd Swxal mh..___ 9 ALINIEL il m m g M m
F'd IPIUYDS ‘4 uopull  :ig peundeuy syuswnoog :LONA0Hd 8
= Y Bc
..1..-"__._ ..m...-“.... .mN—.*ﬂ._..._:.:”.._.: ..M.__\.“_ * “E
19..._.-.....-._......:.._..-._._-..__..-.1 .1- &
39S 4 NOONA] 2
mﬁ”ﬂ.mﬁ”—.::_c::l:i & m mm
s =
U %{ A5 B ; 3 3
s S ~ 3 WOLod ale
Hmz_m. 3150 255 - — oI
Trpoanes™ ) f . I
| | w _. | 050
bl || ' |
I B
=
|
o ?
e o |} o il
0
X
(] mW o m
z i S { =lE
@ & = BlF
T e t s
o 8 | (1l 3 55
< == m_m
IEK -_ﬂm._n_ H=
|
5 1
A\ _m -
ﬂ d 5 7.. 59 J -
i1
|
2 Mm
3 =
o = =
T : 8
R L] = m n_l._ .ﬂn...-m..
P
foli T of I -
\ <
Bk 3
(%]
m 5|5
= =
m
Q S
2 :
= ® 3
5 &
: )8
fa} :
h <
E
=
=
a —. m
=
| 2
O
N i
I
&
@ = =
| w 20—~ |-
_ =)
ve [
Llﬁ.ll -.I.J_.l
| T =
)b % 3=
in ™
(o]}
Iﬂll =




TOM| ELNYLINENDD DNIGTINE ‘M°H 6008 [ ]

Zesti=d # NOLVAISIONN 40 IULWDIULNEO 5 SNOISIAZY T ToR
M TYHOISS3A40Hd 40 OYvOE SYa3EL wy
PO B E STVIIA TvIvLSY Dul v SNOLLVOO1 HOHONY G3SIA3Y| 60/2/Z1 ] | || v w 2 w o)
sesss 14 oouon oz %0a ‘od Jf, ATBNGSSY 80 18vd | M3 [ 39nIvIONIWON_ 1354001 G3siA3u| so/ez/a | 2 | | |8
N SINVIINENGD. ONITING mm. W | 31vadn NOLVNTYAI 100aodd Ial| 60/2z/Z | € |~ = g 5_
SSVIQUIALY U WO = |Elgle B
£ZI¥0LF "3°d SwxaL NI ALIN ; 2
F'd Pwyes 4 wopufl :Ag peuodeld EjUBLLINDOY 1ONaodd M M M m

1.007
ASTRAGAL CHANNEL

BY Trinity

@ ALUMINUM ASTRAGAL
BY Trinity
—]
|

&)

o
S ® 5
S £
T R’
i— <
- = s <5
U 48
< =5
e W.m_
£
=
£
18 =S
>
2
: .
2
.A
sl
®
| EE
= ey — =
3| g |
=
=
=
S
B X
= &
2 :
=
'
= _.Hr &
L
Q o
0 g
5 alE
] . " - b
-] = &=
3 3 =
L ]
..,|.rI.L._.___||
B
-1
I |
p o Illm_,_m..
I

VY

8 ‘Bap ez - NET L-X L SBumesd DMy O\OSTTIADOZT - TOTT foud\ssapod 19alougd\soalold - v\



BILL OF MATERIALS

e L]

ITEM] DESCRIFTION MATERIAL 4% g
A_| 2X HEADER FRAMING SG >= 0.42 WOOD iz 3 g3
B_| 2X FRAMING 5G >= 0.42 WOOD ix Su g gv?
G_| MAX. 1/4 SHIM SPACE WOOD (0 ot Sag O
|_|[3/16"X 1-3/4" TW CONCRETE SCREW STEEL 13,3 g f‘ s
J_ | #10X 3 PFH WS STEEL Eg.% :
K| #9 X2"PFHWS STEEL A xS e £8o
L | #8X2-1/2°PFH WS STEEL Ui doee § O
P__| 3/16 X 2-3/4" ELCO OR (TW PFH CONCRETE SCREW STEEL 252 5,
Q |3/16 X 3-1/4" TW CONCRETE SCREW STEEL E 355 2p
3| HINGE JAMB - FINGER-JOINT PINE - 5G >= 0,42 WOOD g 25
4 | HEAD - FINGER-JOINT PINE - 5G >= 0.42 WOOD 2 E
5 | INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM x g
6 | DOOR BOTIOM SWEEP PVC
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS .

8 | #6X 1-1/4" PFH DRYWALL SCREW STEEL

12 | WEATHER STRIP QEBD450 Q-LON " §

18 | 3.983" X 4" HINGE MIN 0.098" THICK STEEL EE 9

19 | SILLKEY PC/ASA L | B

2] STEEL g 9~

22 STEEL 5

23 | STRIKE PLATE STEEL x5 [al &
23A | DEADBOLT PLATE STEEL gg =

24 | #9 X 5/8"PFH SCREW STEEL gl &

25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. gl &

26 | #9 X 1" PFH SCREW STEEL :

27 _| OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. " E|§|Es|
30 | LATCH STILE - 5G >= 0.42 LVL/PVC I

32 | HINGE STILE - 5G >= 0.42 LVL/PVC =

33 | TOP RAIL- POPLAR LVL & WPC COMBINATION POPLAR/WPC E 5 0

34 | BOTIOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC g 15

39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS [Fy = 5,203 PSI MIN.) FIBERGLASS § % ’é L
40 | #8 X 1-1/8" SELF THREADING SCREW STEEL | 2
42 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL CONCRETE ANCHOR NOTES: . . . g 2
44 | HOT MELT SEALANT / SILICONE 2 : Subshfui_‘:on of equal cr:rn-::relfa anchors fn:i-m a different supplier may have different = E g En
25 | LTE FRAME PCIASA edge distance and cemer distance requirements. , Wl . S181F =
6 |INSULATING FOAN CORE FOLYURETHANE ; Ccrncrefe anchor lccanm:rs‘ar the corners may be ncﬂus{ed to maintain the min. S a g

5 R EOTT AR TR edge distance to mortar joints. If concrete anchor locations noted as "MAX. ON o 7 [

: e CENTER" must be adjusted fo maintain the min. edge distance to mortar joints, a/5(S

91 | 4-3/4" LENGTH TOP BOLT RETAINER HDPE additional concrete anchors may be required to ensure the "MAX. ON CENTER" = [

52 | 9-3/4 LENGTH TOP BOLT RETAINER ALUMINUM dinensions die not exceadsd. S1S18|.,

| 53 [ #8 X 1-3/4" PFH SMS _ STEEL 3. Concrete anchor table: QYN
54 | ASTRAGAL STRIKE @ HEAD STEEL T T T T N
55 | ASTRAGAL BY ENDURA PRODUCT ALUMINUM ANCHOR | ANCHOR | MIN. | MIN. CLEARANCETO | MIN. CLEARANCE TO B P <
56 | ASTRAGAL STRIKE @ SILL STEEL TYPE | SRZE | EMBEDMENT | MASONRY EDGE | ADJACENT ANCHOR — =

/22/05
57_| SLIDE BOLT ROD STEEL W 3/16" 1-3/4" 2.1/4" SWE  N.I.S
58 | ASTRAGAL BY TRC N ALUMINUM R
59 | ASTRAGAL CHANNEL BY TRC ALUMINUM HCO 316" 1-3/4" 5 T
64 | #8 X 2" PFH WS STEEL R
TX—723
sHEET _9 oF _9

R:\A - Projects\Project Folders\Proj 1101 - 1200\pf1160\D. RWBC Drawings\TX-723\TX-723.dwg, 9

© 2009 R.W. BUILOWG BONSULTANTS INO.



